H & 0l & AHS B Ml A

SN gresveIMYA
4 gi2sacAMgL 23
el YeSBRINYL 2 (el mel)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
Si2sS2clAE A 48,311,723 43,112,854 5,198,869
= 12,132,000
[ 8,781,000
= 1,832,460
Ea 25,566,263
gEsdciMga 23 127,715 168,803 241,088
gies2elAigas 23 127,715 168,803 A\41,088
SEH0 G22I L 29 77,771 103,900 N26,129
201 Ler23 | 42,541 47,620 Ab,079
01 At2t2ltl 28,369 31,350 2,981
oMAARE EH &
212,500 x25+33] 1,275
oFA YA S 680,000 52 3,400
oHARE HMEFH =8
1,000,000 *22] 2,000
oULS HHEA(FIIEY) =8
3,000,000& 22 6,000
oHSr - AN 220 RAE+
370,000 x 122 4,440
cHAEE 7Y 25,0008 x175+83] 3,400
oHA #3EHIE £, 32 7Y
50,0008 25122 1,200
oF==D| LH(3CH) 143,100& ~12& 1,718
oA ROUFBIAIAE 198,000& * 12 2,376
o |PF F& SEH|
8,0002 x4 +80! 2,560
2 35284l 14,172 16,270 22,098
oot e| Xt g2l
100,000& %12 100
oAt At a3l
100,000 %12 100
oARS HE /T
1,312& %19 £ x5A1 2H+80L 9,972
SEAL AIEEHI A
2,000,000 * 104 2~ 2,000
oZte|Ab AIEEHl FA
2,000,000 * 10 2= 2,000
202 04| 7,680 9,280 1,600
01 =LHOHI 7,680 9,280 A1,600
oze|HR = 20,0002 x4 =40 3,200
oZAAEHHURFA 80,0003 x7 H+8 4,480
203 HR=H| 2,550 3,000 A450
03 A=A PR 2,550 3,000 A4S0
ogr2sdcAIgA g A
637,500 x4= | 2,550
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SHESCIAEA
segmal AL 2Y
SreszelAgs 23 EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
401 Al HIZL 2018 25,000 44,000 19,000
01 Al&H| 25,000 44,000 19,000
SARIA A AILE STIEA
20,000,000& 20,000
oAb AIEE RNE= 5,000,000 5,000
ged sXE2 &4 49,944 64,903 14,959
101 eI24d| 13,584 13,223 361
M ORNZZ2NSE S 13,584 13,223 361
oxd 2 AdsS 22l
78,8803 x5& x20 7,888
o &2t 78,8803 x4 162 5,049
cAUEE = 12,937,000 5% 647
201 fer=3| 1,040 1,280 A240
01 AtR2t2|H] 1,040 1,280 A240
o=l &4 & AMEa] AR TN SY
Hl 8,0003 x2& +65 1,040
202 04l 2,720 3,200 A480
01 SLHoIH 2,720 3,200 480
o=Xd& &4 I A2 AR FA
20,0003 x2&H »68! 2,720
206 MH=H| 3,500 4,200 AT700
01 M=4l 3,500 4,200 AT700
oXxZFall HIg ¥ I 7
500,000 *45 2,000
oAtdAl 22 P2
5002 *35+1,000=2 1,500
401 AlEHIZ 201 29,100 43,000 213,900
01 Al&H| 29,100 43,000 213,900
o= MHAH 5,700,000& *32 17,100
o= 2 AIZ2 2e2l(AM, 8 8)
9,000,000& 9,000
o&CRX 2e(Fe3=2 S)
3,000,000& %12 3,000
SHIIZAIE 6,683,851 10,332,306 A\3,648,455
S30t= - Hi== XclAl4 6,599,991 5,726,446 873,545
ot==XelAl & 5,404,544 4,591,113 813,431
201 et 3| 73,124 73,367 A243
01 AtR2tc|Hl 73,124 73,367 N243
oSTASHA HMARE EH S
250,000 x2E5+23] 1,000
oA & =
9,300,000& 9,300
oot () MeIAIE HIISHeRES
10,0003 %1,800& 18,000
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FAN SHE2=2clAE
R PIEINE
ch9l: 225l - Bla HM2lAE (12l M2
2 IE
SA - B - SA(SH) - MRA - BAS ol &t e HIDS
ootaHeIAlE HD| - HUAHFA 242(2
WA, & - keI 20,000,000 20,000
ootr=HMelAlE QIS (2eltie) gHE
It 3,000,000& %12 3,000
BB () HElAlE ®I|orE B2 )&
=8 8,500,000 8,500
SIIEELXCIAE HIIotM 2| T ==
2 8,500,0002 8,500
SUHBIEHRIAL FIIQHBRINS 4
= 3,000,000 3,000
oot=XelAld 2Eael HR =8 S|
8,000& 38 »76& 1,824
202 04l 3,600 5,100 21,500
01 2LHOIH 3,600 5,100 21,500
oBlaHRINL gl AR £
20,0002 x3& 60 3,600
307 @20l & 3,966,820 3,507,646 369,174
05 212+ =S 3,966,820 3,597,646 369,174
cZEot(ER)MelAE 2% Bl2te(E (2
cICH&) 2,013,064,000& 2,013,064
oAHGI=HMEIAIE 2 QIRteE (2|
) 1,041, 174,000 1,041,174
SOIERLHRINA 29 BI2H9IE (22l
) 912,582,000 912,582
401 AIZHIX 20HH 1,361,000 800,000 561,000
01 AlZ28| 1,361,000 800,000 561,000
oZdotrXiclAld 8R0HEHl HLSA
1,200,000,000& 1,200,000
oXdotr (L )MelAE JsXE 29
161,000,000 161,000
Hs=XclAld 1,195,447 1,135,333 60,114
201 Zet=3hl 9,622 10,140 518
01 AtR2t2|HI 8,902 9,420 A518
cH+=FE= LA &S EH S AIRE
= 1,270,000& 1,270
olt-H=XelAld HIIQtM2AC| T ===
=3 4,000,000 4,000
oSS AH=MEIAIE MO 2| et
T2 2,000,000& 2,000
cH=XcAE 28R = S
8,000 »3& »68L 1,632
02 S52g4l 720 720 0
oll+=Rg= UM && & RER=s
60,000& * 122 720
202 04l 3,000 4,500 21,500
01 2LHOIH 3,000 4,500 1,500
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FAN SHE2=2clAE
HE: B ZAIM
9l T2t - Ha H2IAIE (SHol: )
SA - ZE . BR() - HRAR - BES of v G o HIDE2
SHAHeIAE 22ee =2
20,0002 x3& x50 3,000
307 gl2to| & 1,182,825 1,120,693 62,132
05 212t =S 1,182,825 1,120,693 62,132
ol H=HMelAlE 2 QRIS (22| THE
) 875,693,000 875,693
oSSEAH=HEAIE 23 2l2teE (22
CHet) 307,132,000 307,132
BH==Al & 83,860 4,605,860 A4,522,000
Bi=8Z& SXl2c 83,860 4,605,860 24,522,000
201 Ler=23 | 33,860 35,860 22,000
2 s5=34l 33,860 33,860 0
oIt 2R HIII=E 3l
200,000& %12 200
ofi+=8ZE 1N MIILks
5,000,000 ~6& 30,000
otf=EILd M &L=
250,000 122 3,000
oli=8IZZE CCIV 2/dMES
50,0002 123 600
otf=BIE ot l=
5,000+ 12& 60
401 AlEHIZL SO 50,000 4,570,000 /4,520,000
01 Al&H| 50,000 4,570,000 /4,520,000
otf=E8Id S+ dHl
15,000, 000& »23] 30,000
oli=8IE MI|Z8| ZH
10,000,000& 10,000
oli=EIE J|H&H Ei
10,000,000 10,000
ot== 2l 20,777,386 12,012,348 8,765,038
= 12,132,000
= 936,600
= 7,708,786
ot== & 2= 2t 3,082,722 3,199,148 116,426
OtSot=XelAE =Xl2el 1,058,838 1,197,026 N138,188
201 er23| 213,993 214,410 vaviA s
01 AtR2t2|HI 2,363 2,780 N7
ot=ot+XclAE FA2c =&
8,000 x2& +68! 1,088
oltSoteHelANE KR dALEE &
JeM Mz S 1,275,000& 1,275
2 s5=4g4l 211,630 211,630 0
oltSot=HMelAld IS (Mal&4s, S
BIE3) 200,929
= 5,550 2«79 A+ 122 47,353
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FA 22l
HH: sl 22
&el: otk & QH 22 EER=E)
2 - IE
SA - B - SA(SH) - MRA - BAS ol &t e HIDS
-ME= 812 %2, 000KW+79IH A% 12 183,576
oOSt4HRIAE SSRRINE SN
=4 35,6702 2501 A 123 10,701
202 048l 2,160 2,520 A360
01 =LHOHI 2,160 2,520 A360
oltSotrXelAlE RFA
20,0003 38 36 2,160
206 MH=HI 24,000 24,000
01 =8l 24,000 24,000
oOrEstaMAL T 2L (ABE)|
S 48) 125,000 *45*4871 A 24,000
307 212t01 & 345,600 332,698 12,902
05 212t =S 345,600 332,698 12,902
oltSot=XelAld AS2A2|(2A2IU)
600, 0002 «48 Ax* 12 345,600
401 AIEHIZL SO 473,085 623,398 A150,313
01 Al&HI 471,840 622,153 A150,313
SOISSI+HRIAL REET QL ADE 1
Al 100,000,000 100,000
oliSot=XelAlg o222 Jil
100,000,000 100,000
otSot+XclAE SEACIALE FH
2,000,000 7 2= 14,000
o0t=ot=XclAlE = XX
29,0002 *20= *48H 2 27,840
oARZ0E0te2Z Jedd Y
4,000,000 *45km 180,000
o &RF 2 2KI7 A2otXclAlE T
=dH EY 50,000,000 50,000
03 Al 20HHI 1,245 1,245 0
oft=ot=XelAld FA2=
172,900,000& %0.72% 1,245
ot=T =Al2el At 1,523,884 1,182,122 371,762
201 Zet=3h] 69,204 69,822 A618
01 AtR2t2|HI 4,602 5,420 A818
oXgs HAY 170,000 x5 & »22| 1,700
oot "Xl =2 Sl
8,0003 x38 +68! 1,632
oot ZANAE FAZ HMAEE E
S 1,270,000 1,270
2 55234l 64,602 64,402 200
oot g2/ 2,900,000& %12 2,900
ootr=TAIES(SAHEZE, REAHY) &I
2= 42,012
-JlEs 4,610+ 12K 122 +5001 2 33,192
-ANE= 702 210K+ 122 500 & 8,820
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FA 22l
B gheg 22
el ok & 2 2l (Gt H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
oot=EAES(BAHERE, REHA)HE3
u 35,6703 +460H 2+ 123 19,690
202 04dl 2,880 3,300 A420
01 2L AL 2,880 3,300 A420
oBlaE sz 942 £
20,0003 x33 48! 2,880
401 AIEHIZ R 0HYI 1,451,800 1,079,000 372,800
01 Al&HI 1,446,800 1,074,000 372,800
oot=E 72| At 1,446,800
ot =4 226,800,000 226,800
otk HWESY 2 40,000,000 40,000
-== o= EH| 300,000,000 300,000
-SEot=2Z Jledd EY
180,000,000 180,000
-H4Z ot+=CFHl JI2HE(HE)8S
A 700,000,000 700,000
03 Al S THYI 5,000 5,000 0
oot=E |AALIE SI(2AJI, 8235)
iz 500,000& *10& 5,000
a2 FU=IAMY 500,000 850,000 A350,000
401 Al HIZL 201 500,000 850,000 A350,000
01 Al&H| 500,000 850,000 A.350,000
CRHS LHOAYUN PLBUBA
500,000,000 500,000
ol=2t ) & ote=SEXCE EX 8,662,000 5,040,000 3,622,000
= 5,003,000
o 3,569,000
FEHM2Ke2+ ¥ A0S ol=22 HUIAY 417,000 0 417,000
= 250,000
s 167,000
401 AIEHIZ SR OHYI 417,000 0 417,000
= 250,000
Ea 167,000
01 Al&HI 417,000 0 417,000
oFEM2xc2+ & AA0I=E otr2A2 &
BIAHS 417,000,000 417,000
= 250,000
= 167,000
XS ot=22 FBIAY 5,760,000 3,865,000 1,895,000
= 2,596,000
s 3,164,000
401 AIEHIZ SR THYI 5,760,000 3,865,000 1,895,000
= 2,5%,000
[Ea 3,164,000
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FA 22l
B glag 22
CHol: BB U SHAELHRIE AX (Shol: % 2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
01 Al&HI 5,760,000 3,865,000 1,895,000
odAHK 7 ote22 FBIAI
5,760,000,000& 5,760,000
= 2,596,000
Ea 3,164,000
&XI, OtHIOtE ot=2t2 JH| 2,485,000 1,175,000 1,310,000
= 2,247,000
o 238,000
401 A2 HIZL 201 2,485,000 1,175,000 1,310,000
= 2,247,000
= 238,000
01 Al&H| 1,985,000 1,175,000 810,000
oZFXl,0tH0IE ot=2=2 HH|
1,985,000,000& 1,985,000
= 1,897,000
Ea 88,000
02 Zeltl 500,000 0 500,000
o X, 0tH0IS ot=2t2 FH|
500,000,000 500,000
= 350,000
Ea 150,000
A2 S3ote=E HUIALY 9,032,664 3,773,200 5,259,464
= 7,039,000
< 936,600
[Ea 1,067,064
sHE0ISot+=x EHl-283X+ 3,149,188 1,349,000 1,800, 188
= 2,648,000
=S 363,000
s 138,188
401 Al HIZL S 0HHI 3,149,188 1,349,000 1,800, 188
= 2,648,000
= 363,000
[Ea 138,188
01 AlZ2H| 3,149,188 1,349,000 1,800, 188
oE2FXT sHENS=E ZHIAY
3,149, 188,000& 3,149,188
= 2,648,000
= 363,000
Ea 138,188
sO0E0tSot=X EHl-=&X+7 2,501,476 1,311,600 1,189,876
= 2,147,000
= 245,200
Ea 109,276
401 AIEHIX R0 2,501,476 1,311,600 1,189,876
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FA 22l
B slag 22
Gl AR 2EEILT FHIAY (SHol: )
SA - ZE . BR() - HRAR - BES of v G o HIDE2
= 2,147,000
=S 245,200
s 109,276
01 Al 2,501,476 1,119,600 1,381,876
o2&+ sHEOSoS FHIAY
2,501,476,000& 2,501,476
= 2,147,000
= 245,200
o 109,276
sOHEDtSot=X EHl-=XIX+ 500,000 0 500,000
= 300,000
= 40,000
o 160,000
401 Al HIZ S OHbI 500,000 0 500,000
= 300,000
= 40,000
[Ea 160,000
01 Al&H| 500,000 0 500,000
ox XX+ s0HE0tSote=Z FH
500,000,000 500,000
= 300,000
= 40,000
o 160,000
sOHEOISot= Hl-430t= 4 1,165,000 812,600 362,400
= 914,000
= 151,000
= 100,000
401 AIEHIZ SO 1,165,000 812,600 352,400
= 914,000
< 151,000
s 100,000
01 Al&H| 780,254 812,600 N32,346
oca380ls sHEDNS0=E &l
780,254,000 780,254
= 680,254
Ea 100,000
02 Zeltl 384,746 0 384,746
oo 30s sHE0Sot=X &bl
384,746,000 384,746
= 233,746
= 151,000
s EDSot+=E EHI-5tE X+ 1,717,000 300,000 1,417,000
= 1,030,000
[ 137,400
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FA 22l
B slag 22
Gl AR 2EEILT FHIAY (SHol: )
SA - ZE . BR() - HRAR - BES of v G o HIDE2
[Ea 549,600
401 AIEHIX 20 1,717,000 300,000 1,417,000
= 1,030,000
= 137,400
= 549,600
01 Al&H| 1,517,000 300,000 1,217,000
oots k7 sHELIS0=E &bl
1,517,000,000& 1,517,000
= 910,000
= 121,400
= 485,600
02 Zaltl 200,000 0 200,000
SBEXT SoENISsEE &)
200,000,000 200,000
= 120,000
= 16,000
[Ea 64,000
o= 2l 19,900,415 20,493,410 A592,995
= 8,781,000
=S 895,860
s 10,223,555
=2l 19,900,415 20,493,410 A592,995
[ 8,781,000
= 895,860
Ea 10,223,555
SOE N2e=E &1 5,220 6,340 A1,120
201 ZBt=3hl 3,120 3,840 AT20
01 AtR2te|HI 3,120 3,840 AT20
SAAET 2B =X ZH|
8,000 63 +65! 3,120
202 04| 2,100 2,500 A400
01 SLHoIH 2,100 2,500 2400
oMAE J|EYR XX
20,0002 x5 21 2,100
s Al A 712,000 850,000 138,000
401 AIEHIX S0 712,000 850,000 /138,000
01 A28l 712,000 850,000 138,000
SRIYALT SAEA U &4
500,000,000 500,000
oXlgat=C AIE (=X, JIEE S)E=
212,000,000 212,000
DISaE &2l 38,99% 40,510 1,515
201 Ler23| 35,851 37,366 1,515
01 At2teltl 35,851 37,366 A1,515
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FA HES2S2AclAE A
M MaT PR
Rl a2l (CH9: &S1)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
oltsdsk &I === 34,660
8= AHA 60,7003 *7JH 2+23] 850
-148s F=HAM 85,0003 #42 K 2-+32 10,710
-B0= HHA
390,0003 420 A+12] 16,380
—HANES BA
80,0002 427} A #23] 6,720
COULSDEAIM LTAN 242 1,191
b= A 30, 20024374 2:+33 ere
-7 BA 306, 1002 *3 I 2 13] 919
206 M=l 3,144 3,144
01 MHZH| 3,144 3,144
oltsdst 457 3,144
“ASUE 4,000& 750kg 3,000
“CHEE A BAASS 12,0002 % 12H 144
Oisat=% AlZIid 227,200 386,560 159,360
401 AIEHIZ R 0HYI 227,200 386,560 /159,360
01 Al&HI 227,200 386,560 159,360
oOl2A4T £E2E 7Y
5,000,000 +27H 2~ 10,000
ollSdsE A8 B
4,000,000 *36IH £ 144,000
oltsat=E M=X(283) dHa
800,000& *420H A-+23] 67,200
ocH=EE SSAE(LSH) RAE+2H2
2,000,000 *37H 2~ 6,000
NgataE SUSAIG (=S &-22) 4,597,000 2,260,000 2,337,000
= 2,281,000
Ea 2,316,000
401 AlZHIZ S OHYI 4,597,000 2,260,000 2,337,000
[ 2,281,000
s 2,316,000
01 AlZ8| 3,795,000 2,258,000 1,537,000
oXlgat+t SUSAIE (R &S FHI)
= 3,795,000,000& 3,795,000
= 1,880,000
s 1,915,000
02 Zeltl 800,000 0 800,000
oXgarE FHIME(=R4E FH])
&l 800,000,000 800,000
[ 400,000
o 400,000
03 Al 20HHI 2,000 2,000 0
oXlgar HIME(=Ra=E FH])
= 2,000,000& 2,000
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SN geSBAGA
MM AT g
Rl a2l (CH9: &S1)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
OXAS HAXT SHEMERS HLAY
383,000,000 383,000
= 302,570
2 80,430
oS HAXT SHEMEES HLAY
EEES]Y 87,000,000 87,000
SOE MERSNLA (HEX ) (REAIY) 500,000 0 500,000
= 395,000
2 105,000
401 Al2HIZ 2 0HH] 500,000 0 500,000
= 395,000
2 105,000
01 Al 500,000 0 500,000
OSGIH AKX SHEMERS HLAY
500,000, 000! 500,000
= 395,000
2 105,000
MM HAY| (LS S22 A L) 63,359 64,522 ~1,163
ol 2oy 27,166 26,712 454
NEEXTT 27,166 26,712 454
101 01241 27,166 26,712 454
01 2= 27,166 26,712 454
oAlZtR2RLS
11,3192 %202 *10AI 2H+ 122 27,166
PIEETT 36,193 37,810 A1,617
pIEETE 36,193 37,810 A1,617
201 B2 28,993 31,110 A2117
01 AlR2t2lH| 24,399 26,851 N2,452
OAIRA 29 ARE ¢
50,0002 *34% 1,700
SHIZAD| BE P 3,200
CH o MAADE 300,000& *42| 1,200
NHE 500, 000! +43] 2,000
SHOIMERIE E
250,000 *6CH+25] 3,000
oMIIEE P 70024 *300H* 122 250
o=AEX PY 25,00021+58 A+ 12 1,500
c#MNEE 7o 1502 %3,0000 450
cale2n=EZ 5,640
~=ox 20,00024+75+ 122 1,680
SAEI 15,0002 x222+ 122 3,960
OXBHIIUA 242
50,0002 x25|x2CH 200
oG AC 60,0002 * 120 7,200
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FA eSSl
. dY2IIH(H=SS 2L L)
s Jl=2ghl EER=E)
S - EE - BRI(EH) - AIRAY - BAS of v G o HIDE2
SAIRA SIIFE)| gtz
34,9002 x 122 «3H 1,257
02 S3=gHl 4,594 4,259 335
ool AIEZ 1,2003+50=+ 123 720
oRURS 359
-B e 4302 +4021% 122 207
-SJ|9# 2,530& #6521+ 1238 152
oEIINERE= 40,0002 22 80
oBtAE S22T I 2F|
1,6232+1,500 £ 2,435
ootk S5 XY FAl2A
1,000,000 *1CH 1,000
203 HRP=H] 7,200 6,700 500
02 3t RF&| 1,680 1,480 200
oXME ADIEE B 40,0002 x42H 1,680
MU FA2SHIFII 5,520 5,220 300
o302l =1t
(400,0002+(5,00024* 12 ) )+ 12& 5,520
Hees (2SSl a) 758,997 41,465 717,532
WA XIE 758,997 41,465 717,532
WA XIZE 758,997 41,465 717,532
701 JIEtRI NS HES 758,997 41,465 717,532
01 JIEt=I AN ES 758,997 41,465 717,532
CULTAASEEH HES
758,997,000 758,997
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